Larry Ericksen Iterated digit sums, recursions and primality

Acta Mathematica Universitatis Ostraviensis, Vol. 14 (2006), No. 1, 27--35

Persistent URL: http://dml.cz/dmlcz/137480

Terms of use:

© University of Ostrava, 2006

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

Iterated digit sums, recursions and primality

Larry Ericksen

Abstract. We examine the congruences and iterate the digit sums of integer sequences. We generate recursive number sequences from triple and quintuple product identities. And we use second order recursions to determine the primality of special number systems.

1. Iterated sum of digits

The Iterated Sum of Digits can be given as an algorithm where we represent a natural number n in base b as $n = \sum_{i\geq 0} c_i b^i$. We then add the b-ary coefficients to get their digit sum $s_b(n) = \sum_{i\geq 0} c_i$. We repeat the process by using this digit summation $s_b(n)$ as our new number n, and only stop when the digit sum is less than some predetermined value t.

We use a notation for the resulting Iterated Sum $b_{b,t}(\chi)$ by the symbol I over S, for any set of natural numbers χ in base b with iteration constraint t. When the value t equals the base value b, we shorten the notation for the Iterated Sum to a single subscript as $b_b(\chi)$, with potential values ranging from 1 to b-1.

A one-to-one correspondence exists between the arithmetic of Iterated Sum of Digits and the arithmetic of Congruences. In a clock example, the times in hours N for $1 \le N \le 12$ have residues of N modulo 12 equal to $\{1, 2, \ldots, 10, 11, 0\}$. The same values for N written in base 13 have Iterated Sums $\$_{13}(N)$ of $\{1, 2, \ldots, 10, 11, 12\}$. For any natural number $N \ge 1$, it can be seen by induction that the residues and the Iterated Sums will repeat in their respective cycles. And by analogy, for the sequence of natural numbers $N \ge 1$ and given any integer $b \ge 1$, the residues of N modulo b will have an integer cycle $\{1, 2, \ldots, b-1, 0\}$, and the sequence of Iterated Sums for N in base b+1 will have the integer cycle $\{1, 2, \ldots, b-1, b\}$.

We can examine the fundamental cycles of special sequences of numbers by their Congruences and Iterated Digit Sums. For example, Pisano numbers $\pi(m)$

Received: October 30, 2005.

¹⁹⁹¹ Mathematics Subject Classification: 11A07, 11A51, 11A63, 11B37, 11B39, 11B50.

 $Key\ words\ and\ phrases:$ sum of digits, recursive sequences, triple product identity, quintuple product, primality testing.

give the periods of the Fibonacci Sequence $\{F_n\}$ modulo m, shown by the integer sequence in [7] as:

$$\{\pi(m)\} = \{1, 3, 8, 6, 20, 24, 16, 12, 24, 60, 10, \ldots\} \text{ for } m \ge 1.$$

The same period sequence (1) holds for the fundamental cycle of Iterated Sum of Digits $b_{b}(\{F_{n}\})$ when b=m+1.

Likewise the periods for Lucas numbers have the same sequence (1) for the congruences $\{L_n\} \pmod{m}$ and for the Iterated Sum of Digits $\mathfrak{s}_{m+1}(\{L_n\})$, except that the period values for the Lucas numbers are $\frac{1}{5}$ that of the Fibonacci numbers when m is divisible by 5, according to

Lucas cycle(m) =

$$\begin{cases}
Fibonacci cycle(m) & \text{if } 5 \not| m. \\
\frac{1}{5} Fibonacci cycle(m) & \text{if } 5 \mid m.
\end{cases}$$

Period values π may be reduced by accelerating the sequence index n in order to shorten the cycle length, as shown here for Lucas numbers L_n :

$$\pi(\$_{m+1}(\{L_{2n}\})) \to \frac{1}{2}\pi(\$_{m+1}(\{L_n\})).$$

2. Recursive sequences

We define recursive sequences like those for the Fibonacci and Lucas numbers $\{F_n, L_n\}$ by second order recursions for $a_i=a_i(r)$ and $b_i=b_i(r)$ with recursion variable r and certain initial conditions, given by

$$a_i = r a_{i-1} + a_{i-2}, \qquad a_0 = 0, \ a_1 = 1,$$
(2)

$$b_i = r b_{i-1} + b_{i-2}, \qquad b_0 = 2, \ b_1 = r.$$
 (3)

Taking variable r=1, we get $a_n(1)=F_n$ and $b_n(1)=L_n$ for $n\geq 0$. We get Pell numbers P_n and Pell Lucas numbers Q_n with r=2 for the respective values of $a_n(2)$ and $b_n(2)$ when $n\geq 0$.

We can also define the sequence values $a_i(r)$ and $b_i(r)$ as the coefficients in the series expansion of their generating functions:

$$\sum_{i\geq 0} a_i(r) \ x^i = \frac{x}{1 - r \ x - x^2}. \qquad \sum_{i\geq 0} b_i(r) \ x^i = \frac{2 - x}{1 - r \ x - x^2}.$$

Separately we will define another variable $\gamma_j(r)$ by its generating function, noting that the even indexed variables $\gamma_{2j}(r)$ have a Chebyshev related generating function with $R=r^2+2$.

$$\sum_{j\geq 0} \gamma_j(r) \, x^j = \frac{2-x}{1-r\,x-x^2}, \qquad \sum_{j\geq 0} \gamma_{2j}(r) \, x^j = \frac{2-r\,x}{1-R\,x+x^2}. \tag{4}$$

We then generalize variables $a_i(r)$ and $b_i(r)$ by substituting any $\gamma_j(r)$ value for variable r at any integer $j \ge 1$ in their generating functions to obtain

$$\sum_{i>0} a_{ji}(r) x^{i} = \frac{a_{j}(r) x}{1 - \gamma_{j}(r) x + (-1)^{j} x^{2}}.$$
(5)

$$\sum_{i\geq 0} b_{ji}(r) x^{i} = \frac{2 - \gamma_{j}(r) x}{1 - \gamma_{j}(r) x + (-1)^{j} x^{2}}.$$
(6)

3. Multiple product identities

Now we show how these second order recursive sequences are derived from multiple product identities, such as the Jacobi triple product and the Watson quintuple product identities.

3.1 Jacobi Triple Product

The Jacobi triple product identity of [3] can be written as an infinite product with its power series expansion in q.

$$\prod_{n\geq 1} (1-z^{-1}q^{2n-1})(1-zq^{2n-1})(1-q^{2n}) = \sum_{k=-\infty}^{\infty} (-1)^k z^k q^{k^2}.$$
 (7)

This formal power series in q is valid for complex variables z and q, where $z \neq 0$ and |q| < 1. We define another complex variable $r=z+z^{-1}$ and then get polynomials in q with coefficients in r. As in [2], we show the triple product TP as a q-series and in product form (8) after substituting $r=z+z^{-1}$.

$$TP = \sum_{h \ge 0} c_h q^h = (zq, z^{-1}q, q^2; q^2)_{\infty}$$
$$= \prod_{n \ge 1} (1 - r q^{2n-1} + q^{4n-2})(1 - q^{2n}),$$
(8)

where $(a, b; q)_{\infty} = \prod_{n \ge 1} (1 - aq^{n-1})(1 - bq^{n-1})$ are q -Pochhammer symbols.

We create a companion triple product by substituting $r \rightarrow r/I$ and $q \rightarrow q/I$:

$$TP = \prod_{n \ge 1} (1 - (-1)^n r q^{2n-1} - q^{4n-2})(1 - (-1)^n q^{2n}).$$
(9)

Then we combine the results (8,9) into a composite product identity TP2(r) for even or odd j parity, with series expansion in q and coefficients $\Psi_k(r)$:

$$TP2(r) = \prod_{n \ge 1} (1 - (-1)^{nj} r q^{2n-1} + (-1)^j q^{4n-2})(1 - (-1)^{nj} q^{2n})$$

=
$$\sum_{k \ge 0} c_k q^{k^2} = \sum_{k \ge 0} (-1)^{s_k} \Psi_k(r) q^{k^2}$$
(10)

with sign exponent given by $s_k = (j-1)k + j\lfloor \frac{k}{2} \rfloor$.

We extend the $\Psi_k(r)$ coefficients by substituting any j^{th} term from the sequence $\gamma_j(r)$ in (4) for the *r* variable. This generalizes the triple product TP2(r) at any value $j \ge 1$, giving a product identity with $\Psi_k(\gamma_j(r))$ coefficients:

$$TP2(\gamma_j(r)) = \prod_{n \ge 1} (1 - (-1)^{nj} \gamma_j(r) q^{2n-1} + (-1)^j q^{4n-2})(1 - (-1)^{nj} q^{2n})$$

=
$$\sum_{k \ge 0} (-1)^{s_k} \Psi_k(\gamma_j(r)) q^{k^2} \quad \text{with} \ s_k = (j-1)k + j \lfloor \frac{k}{2} \rfloor.$$

At each $\gamma_j(r)$ variable, this general power series has Ψ values given by the $b_{ji}(r)$ coefficients.

$$TP2(\gamma_j(r)) = \sum_{k \ge 0} (-1)^{s_k} \Psi_k(\gamma_j(r)) q^{k^2} = 1 + \sum_{k \ge 1} (-1)^{s_k} b_{jk}(r) q^{k^2}.$$
(11)

The $b_{ji}(r)$ values can be obtained by recursion (3), generating function (6) or the binomial expansion with $b_0=1$ and

$$b_{ji}(r) = \sum_{k=0}^{\lfloor \frac{i}{2} \rfloor} (-1)^{k(j+1)} \frac{i}{i-k} \binom{i-k}{k} (\gamma_j(r))^{i-2k} \text{ for } i \ge 1.$$

For $r = \pm 1, \pm 2$, coefficients $b_{ji}(r)$ are Lucas L_n and Pell Lucas Q_n numbers.

$$\Psi_k(\gamma_j(1)) = \Psi_k(L_j) = L_{jk}.$$

$$\Psi_k(\gamma_j(2)) = \Psi_k(Q_j) = Q_{jk}.$$

In the r=1 family, TP2 formulas yield j^{th} level Lucas number coefficients:

$$TP2(L_j) = 1 + \sum_{k \ge 1} (-1)^{s_k} L_{jk} q^{k^2}$$
$$= \begin{cases} 1 + 1 q - 3 q^4 - 4 q^9 \cdots & \text{at } j = 1 \\ 1 - 3 q + 7 q^4 - 18 q^9 \cdots & \text{at } j = 2 \\ 1 + 4 q - 18 q^4 - 76 q^9 \cdots & \text{at } j = 3 \\ 1 - 7 q + 47 q^4 - 322 q^9 \cdots & \text{at } j = 4 \end{cases}$$

with sign exponent $s_k = (j-1)k + j\lfloor \frac{k}{2} \rfloor$.

3.2 Watson Quintuple Product

The Watson quintuple product of [4] can be given by the form:

$$\prod_{n\geq 1} (1-z^{-1}q^{2n-1})(1-zq^{2n-1})(1-z^{-2}q^{4n-4})(1-z^{2}q^{4n-4})(1-q^{2n})$$
$$= \sum_{k=-\infty}^{\infty} q^{(3k-2)k}((z^{3k}+z^{-3k})-(z^{3k-2}+z^{-(3k-2)})).$$
(12)

We obtain a balanced quintuple product QP as in [2], by dividing the Watson quintuple product (12) by $-((z^2-1)/z)^2$. We write this quintuple product QPin q-series notation and give its product form in (13) after variable substitutions $r=z+z^{-1}$ and $p=r^2-2$.

$$QP = \sum_{h \ge 0} c_h q^h = (zq, z^{-1}q, q^2; q^2)_{\infty} (z^2 q^4, z^{-2} q^4; q^4)_{\infty}$$

=
$$\prod_{n \ge 1} (1 - rq^{2n-1} + q^{4n-2})(1 - pq^{4n} + q^{8n})(1 - q^{2n}).$$
(13)

We get a companion quintuple product by substituting $r \rightarrow r/I$ and $q \rightarrow q/I$, with variable $p^* = -r^2 - 2$.

$$QP = \prod_{n \ge 1} (1 - (-1)^n r q^{2n-1} - q^{4n-2})(1 - p^* q^{4n} + q^{8n})(1 - (-1)^n q^{2n}).$$
(14)

We use the results (13, 14) to create a composite quintuple product QP2 for even or odd j parity, yielding a series in q with coefficients $\Psi_{\omega_k}(r)$ with lacunary index $\omega_k = \lfloor \frac{3k+2}{2} \rfloor$:

$$\prod_{n\geq 1} (1-(-1)^{nj} r q^{2n-1} + (-1)^{j} q^{4n-2})(1-p^* q^{4n} + q^{8n})(1-(-1)^{nj} q^{2n})$$

= $QP2 = \sum_{k\geq 0} c_k q^{\tau_k} = \sum_{k\geq 0} (-1)^{s_k} \Psi_{\omega_k}(r) q^{\tau_k}$ (15)

for variables $p^* = (-1)^j r^2 - 2$, $\tau_k = k^2 + k - (\lfloor \frac{k+1}{2} \rfloor)^2$ and $s_k = kj - k + j \lfloor \frac{k+1}{4} \rfloor$.

We extend the $\Psi_{\omega_k}(r)$ coefficients by substituting any j^{th} term from the sequence $\gamma_j(r)$ in (4) for the *r* variable in the composite product identity (15). This generalizes the quintuple product QP2(r) at any value $j \ge 1$, with a product identity having $\Psi_{\omega_k}(\gamma_j(r))$ coefficients. At each $\gamma_j(r)$ variable, the generalized Ψ values are given by ratios of the $a_{ji}(r)$ coefficients.

$$QP2(\gamma_j(r)) = \sum_{k \ge 0} (-1)^{s_k} \Psi_{\omega_k}(\gamma_j(r)) q^{\tau_k} = \sum_{k \ge 0} (-1)^{s_k} \frac{a_{j\omega_k}}{a_j} q^{\tau_k}$$
(16)

for $\omega_k = \lfloor \frac{3k+2}{2} \rfloor$ and $\tau_k = k^2 + k - (\lfloor \frac{k+1}{2} \rfloor)^2$ as generalized octagonal numbers. These $a_{ji}(r)$ values can be gotten by recursion (2), generating function (5) or the binomial expansion:

$$a_{ji}(r) = \alpha_j(r) \sum_{k=0}^{\lfloor \frac{i-1}{2} \rfloor} (-1)^{\sigma_k} \binom{i-k-1}{k} (\gamma_j(r))^{i-2k-1}$$

with sign exponent $\sigma_k = k(j+1) + j\lfloor \frac{k+1}{6} \rfloor$.

At $r = \{1, 2\}$, the coefficients are Fibonacci F_n and Pell P_n number ratios.

$$\Psi_k(\gamma_j(1)) = \Psi_k(L_j) = F_{jk}/F_j.$$

$$\Psi_k(\gamma_j(2)) = \Psi_k(Q_j) = P_{jk}/P_j.$$

In the r=1 family, the QP2 formulas yield j^{th} level Fibonacci number coefficient ratios:

$$QP2(L_j) = \sum_{k \ge 0} (-1)^{s_k} \frac{F_{j\omega_k}}{F_j} q^{\tau_k}$$

$$= \begin{cases} 1 + 1 \ q + 3 \ q^5 - 5 \ q^8 \cdots & \text{at } j = 1 \\ 1 - 3 \ q + 21 \ q^5 - 55 \ q^8 \cdots & \text{at } j = 2 \\ 1 + 4 \ q + 72 \ q^5 - 305 \ q^8 \cdots & \text{at } j = 3 \\ 1 - 7 \ q + 329 \ q^5 - 2255 \ q^8 \cdots & \text{at } j = 4 \end{cases}$$
with $\omega_k = \lfloor \frac{3k+2}{2} \rfloor, \ \tau_k = k^2 + k - (\lfloor \frac{k+1}{2} \rfloor)^2 \text{ and } s_k = k(j-1) + j \lfloor \frac{k+1}{4} \rfloor.$

3.3 Other Variable Selections

We can reconstruct the polynomial QP2 of (16) in terms of variable z from $\gamma_j(r) = z + z^{-1}$ to get

$$QP2 = \begin{cases} \sum_{k \ge 0} q^{\tau_k} & \frac{(-1)^{s_k}}{z^{\nu_k}} & \sum_{h=0}^{\nu_k} D_{k,k-h} \ z^{2h} & \text{for odd } j \\ \\ \sum_{k \ge 0} q^{\tau_k} & \frac{(-1)^k}{z^{\nu_k-1}} & \sum_{h=0}^{\nu_k-1} z^{2h} & \text{for even } j \end{cases}$$

with $\tau_k = k^2 + k - (\lfloor \frac{k+1}{2} \rfloor)^2$, $\nu_k = \lfloor \frac{3k}{2} \rfloor$, and $s_k = \lceil \frac{k-1+\operatorname{sgn}(r)}{4} \rceil$ where the value for $\operatorname{sgn}(r)$ is 1 if r > 0 and is -1 if r < 0.

The $D_{n,k}$ coefficients are Delannoy numbers [1, 9], derived by the recursion

$$D_{n,k} = D_{n,k-1} + D_{n-1,k-1} + D_{n-1,k},$$

$$D_{0,0} = 1, \ D_{1,1} = 3, \ D_{n,0} = D_{0,n} = 1 \ \text{ for } \ n > 0.$$

We also can redefine polynomial TP2 of (11) in terms of variable z from $\gamma_j(r) = z + z^{-1}$ to obtain

$$TP2 = \begin{cases} \sum_{k \ge 0} q^{k^2} & \frac{(-1)^{s_k}}{z^k} \sum_{h=0}^k D^*_{k,k-h} \ z^{2h} & \text{for odd } j \\ \\ \sum_{k \ge 0} q^{k^2} & (-1)^{s_k} & \sum_{h=0}^k \ (z^h + z^{-h}) & \text{for even } j \end{cases}$$

where $s_k = (j-1) \left(k \lfloor \frac{1+\operatorname{sgn}(r)}{2} \rfloor \right) + j \lfloor \frac{2k+1-\operatorname{sgn}(r)}{4} \rfloor.$

The $D_{n,k}^*$ numbers are gotten from the same third order recursion, but with new initial values according to

$$D_{n,k}^* = D_{n,k-1}^* + D_{n-1,k-1}^* + D_{n-1,k}^*,$$

$$D_{0,0}^* = 1, \ D_{1,1}^* = 4, \ D_{n,0}^* = D_{0,n}^* = 1 \ \text{for} \ n > 0.$$

3.4 Delannoy Triangles

We will define Delannoy t triangles by the recursion:

$$d_{n,i} = d_{n-1,i} + d_{n-1,i-1} + d_{n-2,i-1}$$

with variable $d_{2,1} = t$ and $d_{n,0} = d_{n,n} = 1$ for $n \ge 0$.

Delannoy triangle row entries $d_{n,j}$ are the anti-diagonals of the Delannoy matrices $D_{n,k}$. And the anti-diagonals of the Delannoy triangle $d_{n,j}$ were shown in [11] to give the Tribonacci sequence $\{1, 1, 2, 4, 7, 13, \ldots\}$.

	Delannoy triangles $d_{n,i}$						
n	i = 0	1	2	3	4	5	A_n
0	1						1
1	1	1					2
2	1	3	1				5
3	1	5	5	1			12
4	1	7	13	$\overline{7}$	1		29
5	1	9	25	25	9	1	70

Delannoy triangle row entries $d_{n,j}^*$ are Delannoy matrices $D_{n,k}^*$ anti-diagonals.

	Delannoy triangles $d_{n,i}^*$						
n	i = 0	1	2	3	4	5	A_n
0	1						1
1	1	1					2
2	1	4	1				6
3	1	6	6	1			14
4	1	8	16	8	1		34
5	1	10	30	30	10	1	82

The sum A_n of the entries in the n^{th} row of the Delannoy triangles $d_{n,j}$ is

 $A_{n+1} = Q_n + t P_n \quad \text{for } n \ge 0$

with Pell numbers P_n and Pell Lucas numbers Q_n and taking $A_0 = 1$.

4. Primality testing

Second order recursions can be used to test primality of special number systems [5], like the Mersenne numbers and other number sequences.

4.1 The Lucas-Lehmer Test

In the Lucas-Lehmer test [10], Mersenne numbers $M_n = 2^n - 1$ are checked for primality by the recursion $s_n \equiv s_{n-1}^2 - 2$ with initial condition $s_0 = 4$. The Mersenne number M_p is prime, if and only if $s_{p-2} \equiv 0 \pmod{M_p}$.

The $\{s_n\}_{n\geq 0}$ sequence in [6] begins $\{4, 14, 194, 37634, 1416317954, \ldots\}$. For example: Let $M_7 = 2^7 - 1 = 127$, the sequence residues for $\{s_n\} \mod M_7$) are $\{4, 14, 67, 42, 111, 0, 125, 2, 2, 2, \ldots\}$. This primality result corresponds to the Iterated Sum case with base $b = M_7 + 1 = 2^7 = 128$ with Iterated Sum of Digits $\$_{2^7}(\{s_n\})$ of $\{4, 14, 67, 42, 111, 127, 125, 2, 2, 2, \ldots\}$.

We can thus state that comparable conditions exist for Mersenne primes $M_p = 2^p - 1$ under either testing approach, whether by Congruences or by Iterated Sum of Digits, according to

$$\begin{split} s_{p-2} \pmod{M_p} &\equiv 0 &\Leftrightarrow \quad \$_{2^p}(s_{p-2}) = M_p. \\ s_{p-1} \pmod{M_p} &\equiv M_p - 2 &\Leftrightarrow \quad \$_{2^p}(s_{p-1}) = M_p - 2. \\ s_i \pmod{M_p} &\equiv 2 &\Leftrightarrow \quad \$_{2^p}(s_i) &= 2 \quad \text{for } i \geq p. \end{split}$$

Although the above criteria do not accelerate the typical primality search ahead of the recursion index for s_{p-2} , the following conjecture does.

Conjecture: The Mersenne number $M_p = 2^p - 1$ is prime, if and only if

$$s_{p-3} \pmod{M_p} \equiv \pm 2^{\frac{p+1}{2}} \iff \$_{2^p}(s_{p-3}) = \begin{cases} M_p - 2^{\frac{p+1}{2}} & \text{or} \\ 2^{\frac{p+1}{2}} & \end{cases}$$

The conjecture is based on empirical research, with both Congruence and Iterated Sum of Digits cases. For example: $111 \equiv s_4 \mod M_7 \equiv -16$.

4.2 Other Related Primality Tests

In Lucas-Lehmer primality testing, the fast Lucas type recursion comes from a full recursion $b_i(r)$ with $r=\sqrt{2}$, which has a corresponding $a_i(r)$ sequence of Fibonacci type. As in (2,3), these full recursions have the form

$$b_i = r b_{i-1} + b_{i-2}, \qquad b_0 = 2, \ b_1 = r,$$
(17)

$$a_i = r a_{i-1} + a_{i-2}, \qquad a_0 = 0, \ a_1 = 1.$$
 (18)

	Sequences at $r=\sqrt{2}$								
	i = 0	1	2	3	4	5	6	7	8
b_i	2	$\sqrt{2}$	4	$5\sqrt{2}$	14	$19\sqrt{2}$	52	$71\sqrt{2}$	194
a_i	0	1	$\sqrt{2}$	3	$4\sqrt{2}$	11	$15\sqrt{2}$	41	$56\sqrt{2}$

Using the $a_i(r)$ sequences, other fast primality tests for Mersenne numbers can be obtained by pairing the $a_i(r)$ and $b_i(r)$ recursions.

Fast Recursion Pair: Take recursions $\beta_{n+1} = \beta_n^2 - 2$ and $\alpha_{n+1} = \alpha_n \beta_n$, with initial values $\alpha_0 = 1$, $\beta_0 = 4$, and define $M_p = 2^p - 1$, then

 M_p is prime iff $\alpha_{p-1} \equiv 0 \pmod{M_p}$.

Proof: Identity $F_{2h}=F_hL_h$ in [8] is special case of $a_{2h}=a_hb_h$. Use a_h,b_h in recursions (17,18) at $r=\sqrt{2}$ for h>0. Repeating identity gives $a_{2^{n+1}}=a_{2^n}b_{2^n}$. Since $\beta_{n+1}=\beta_n^2-2$ with $\beta_0=4$ is the recursion for the Lucas-Lehmer test variable, we have $s_n=\beta_n=b_{2^{n+1}}$ with the associated variable $\alpha_n=a_{2^{n+1}}$, by dropping the common $\sqrt{2}$ factor. So for Mersenne primes $M_p=2^p-1$, the primality test $\alpha_{p-1}=\alpha_{p-2}\beta_{p-2}\equiv 0 \pmod{M_p}$ for primality.

Another Pair: Take recursions $\beta_{n+1} = \beta_n^2 - 2$ and $\alpha_{n+1} = \alpha_n \beta_n - 1$, with initial values $\alpha_0 = 3$, $\beta_0 = 4$, and define $M_p = 2^p - 1$, then

 M_p is prime iff $\alpha_{p-1} \equiv -1 \pmod{M_p}$.

Proof: $F_{4h+1} = F_{2h+1}L_{2h} - 1$ in [8] is a special case of $a_{4h+1} = a_{2h+1}b_{2h} - 1$. Repeating the identity gives $a_{2^{n+1}+1} = a_{2^n+1}b_{2^n} - 1$. Use a_h, b_h in recursions (17,18) at $r = \sqrt{2}$ for h > 0. Since $\beta_{n+1} = \beta_n^2 - 2$ with $\beta_0 = 4$ is the recursion for the Lucas-Lehmer test variable, we get $s_n = \beta_n = b_{2^{n+1}}$ and paired variable $\alpha_n = a_{2^{n+1}+1}$, having dropped the common factor $\sqrt{2}$. For Mersenne primes $M_p = 2^p - 1$, the primality test $\alpha_{p-1} = \alpha_{p-2}\beta_{p-2} - 1 \equiv -1 \pmod{M_p}$ then corresponds to the Lucas-Lehmer primality test $s_{p-2} = \beta_{p-2} \equiv 0 \pmod{M_p}$.

Besides the primality tests for Mersenne primes discussed above, we conclude with conjectures for testing primality of two differently configured numbers, namely $E_t = 4^t - 5$ and $E_t^* = 4^t - 3$.

Conjecture for E_t : If we take the recursion $\alpha_n = 14 \alpha_{n-1} - \alpha_{n-2}$ starting with initial values $\alpha_0=3$, $\alpha_1=1$, and define $E_t=4^t-5$ for $t\geq 2$, then

 E_t is prime iff $\alpha_h \equiv 0 \pmod{E_t}$ at $h = 2^{2t-3}$.

We note: $\alpha_h = a_{4h-3}$ in recursion (18) at $r = \sqrt{2}$ for h > 0. The α_h values are the coefficients in the series expansion of the generating function $\frac{3-41x}{1-14x+x^2}$.

Conjecture for E_t^* : If we take the same recursion $\beta_n = 14 \beta_{n-1} - \beta_{n-2}$ with initial values $\beta_0 = 4$, $\beta_1 = 4$, and define $E_t^* = 4^t - 3$ for $t \ge 2$, then

 E_t^* is prime iff $\beta_h \equiv 0 \pmod{E_t^*}$ at $h = 2^{2t-3}$.

We note: $\beta_h = b_{4h-2}$ in recursion (17) at $r = \sqrt{2}$ for h > 0. The β_h values are the coefficients in the series expansion of the generating function $\frac{4-52x}{1-14x+x^2}$.

Of course, E_t and E_t^* are twin primes when their primality conditions are simultaneously satisfied at the same t value.

Acknowledgment

The author thanks the anonymous referee for the helpful suggestions which made this manuscript more precise and readable.

References

- B.A. Bondarenko. Generalized Pascal Triangles and Pyramids: Their Fractals, Graphs, and Applications, pp. 36-37. Santa Clara, CA: The Fibonacci Association, 1993.
- [2] L. Ericksen. "Golden Tuple Products." To Appear In Applications of Fibonacci Numbers 11, W. Webb (ed.), Dordrecht: Kluwer Academic Publishers, 2006.
- [3] D. Foata and G.-N. Han. "Jacobi and Watson Identities Combinatorially Revisited." From a Web Resource.

http://cartan.u-strasbg.fr/~gnonin/paper/pub81/html.

- [4] Soon-Yi Kang. "A New Proof Of Winquist's Identity." J. of Combin. Theory, Series A 78 (1997) 313-318.
- [5] P. Ribenboim, "Primality Tests Based on Lucas Sequences." 2.V In The Little Book of Bigger Primes, 2nd ed. New York: Springer-Verlag, p. 63, 2004.
- [6] N.J.A. Sloane, Sequences A003010 & A095847 From a Web Resource. http://www.research.att.com/ njas/sequences/.
- [7] N.J.A. Sloane, A001175 "Pisano Number." From a Web Resource. http://www.research.att.com/ njas/sequences/.
- [8] S. Vajda. Fibonacci & Lucas Numbers, and the Golden Section: Theory and Applications, pp. 177-178. Chichester: Ellis Horwood, 1989.
- [9] E.W. Weisstein. "Delannoy Number." From a Web Resource. http://mathworld.wolfram.com/DelannoyNumber.html
- [10] E.W. Weisstein. "Lucas-Lehmer Test." From a Web Resource. http://mathworld.wolfram.com/Lucas-LehmerTest.html
- [11] C.K. Wong and T.W. Maddox. "A Generalized Pascal's Triangle." The Fibonacci Quarterly 13:2 (1975) 134-136.

Author(s) Address(es): LARRY ERICKSEN, P.O. BOX 172, MILLVILLE, NEW JERSEY, USA, 08332-0172 *E-mail address*: LE22@cornel1.edu